=

T

=

1/cdo/dp_ [GeV ]
|_\
o

-
o
R

[EEY

Ratio to ATLAS

7000 GeV pp Z (Drell-Yan)

T | I I I I T T | I I I I I T T | I

—— pi (muon channel, bare) —
= m ATLAS =
I A Herwig++ Powheg 2.7.1 default -
| —e— MadGraph5 2.7.2.atlas3 lo D |
= —o— MadGraph5 2.7.2.atlas3 nlo ’_g
= ¢ Sherpa 2.2.9 default —
E | | | | | | I .| | | | | | I | | | | E
:I T | T T T T T T T T | T T T T T T T T | T T :
1 1 | 1 1 1 1 1 1 1 1 | 1 1 1 1 1 1 1 1 | 1 1

2
1 10 pT(Lr%umu) [GeV]

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


